Homework #3: Mole conversions



Name:
*note: after Friday’s lecture you may only be able to finish part of this

What is the relationship between 1 iron atom and 1 mole of iron atoms?

Mass relationship:   1 mole of any element =  

Quantity relationship:  1 mole of any element =

Therefore, what is the mass and number of atoms relationship?
Show all work, by using appropriate conversion factors (factor label method!):

 I.   grams→ moles     and       moles → grams

How many moles of carbon in 34.3 grams of carbon

How many grams of chlorine in 2.9 moles of chlorine

How many moles of strontium in 3.4 x 103 grams of strontium

How many grams of silver in 4.5 x 10-2 moles of silver

II.  number of atoms → moles    and    moles → number of atoms

2.3 x 1022 atoms of Helium is how many moles of Helium?

3.7 moles of Nickel, contain how many nickel atoms?

5.6 x 1023 atoms of potassium is how many moles of potassium?

4.3 x 10-3 moles of iodine contains how many atoms of iodine?
III.  grams  →  number of atoms      and     number of atoms →  grams

2.3 grams of zinc contain how many atoms of zinc?

5.6 x 1019 atoms of nitrogen have a mass of how many grams?

17.9 grams of rubidium contains how many atoms of rubidium?

8.4 x 1024 atoms of chromium have a mass of how many grams?

Without using a calculator compare the following:

50.0 grams of cobalt

1.5 moles of Ne

6.02 x 1023 atoms of fluorine

Which has the greatest mass?

Which has the greatest number of atoms?

Which has the greatest number of moles of substance?
